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Which of the following staterment is true?

Select the correct option
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All spaces are metrizable
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tet X — {1,2,3,4,5, 6}and T = {0, 13}, {4}, {3,4}, X} bea topology on X, then which of the following is true?

Select the correct option
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Quiestion # 8 of 10 ( Start time: 10:12:25 AM, 15 February 2022 ) Total Marks:

st X ={1,2,3,4} and 7 = (B, {1}, {2}, {1, 2}, X} b= o topalcgy on X, then which of the following is true 7
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Question # 10 of 10 { Start time: 10:15:31 AM, 15 February 2022 )

Total Marks:1

which of the following staternent is false?

Select the correct option
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st X ={1,2,3,4} and 7 = (B, {1}, {2}, {1, 2}, X} b= o topalcgy on X, then which of the following is NOT true 7
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Question # 9 of 10 [ Start time: 10:13:36 AM, 15 February 2022 ) Total Marks:

st X = {o b e} and v = {0, {a}, {b}, (2.6}, X} be atopaiogy on X it B = {0, {a}, {b}, X} be the bose of 7 then which of the following is
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st X ={1,2,3,4,5,6} ond = {0, {1}, {2}, {1,2}, X} be otopoiogy on X, then the locolbase ( B, Jofthepoint 2 = 2ia___
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X 1,234} and == {0, {1} {2}, 11,2}, X} sclogy on X thenwhich of the loliow

Select the correct option % nuiood Math Equations

y @lmrrart ol X o (LTS 1

X7} baa first toble spo

X, 7} ba o opolcgcal sy




WhatsApp 10:09 AM

2437 messages from 26 chats

BC1804071082: MUHAMMAD AJMAL Time Left

MTHE34 - Topology (Quiz No. 3) Quiz start Time: 10:03 AM, 15 February 2022
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Which of the following statement is
true?

Select the correct option

All spaces dre metrizable.
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X 1,234} and == {0, {1}, {2}, 11,2}, X} sology on X thenwhich of the loliow
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Question # 2 of 10 [ Start tirme: 09:58:14 AML 16 February 2022 ) Total Marks: |
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Question # 5 of 10 ( Start time: 08:29:35 PM, 14 February 2022 )

et X = {a,b,c} ond v = {0, {a}, {b}, {a, b}, X} be a topology on X, it B = {0, {a}, {b}, X} be the base of 7, then which of the following s tria
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Question # 8.of 10 ( stort time: 10:35:40 AM. 16 February 2022 ) Tota
Lot X —Tl.é,ﬁl,-i,ﬁ._ﬁl and 7 —_1_&_{1]. {2},{_1.1}-._.\‘] bentnpnbgvm_’f,:.en the|;| m:ae-:-ﬂ'; Jottheporte =2is_

salect the correct option

More of them

{1} 42} %)

({2).{1.2}.x).

({1} {1.2}.{2). X}

1l

Click (o Sove Anpwer & Mows (o Nealt Qus




select the correct option
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Question # 3 of 10 ( Stoart time: 10:32:16 AM, 16 February 2022 )

E'll'Br",' matrc Epaca Ia first countable.

Select the correct option

True

Fatee

Click to Sove Answer &
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MTHE34 - Topology (Quiz Ne. 3)

Question # 8ol 10 { stort time: 10:25:54 AM. 15 Febrt y 2022

t X ={1,2,3, 4,58} ondy = {0, {3}, {4}, {3, ll|._'\_l

i 0 Type here to scanch
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Question # 10 of 10 { Start time: 10:17:07 AM, 16 February 2022 ) Te

Metric topology induced by diz, y) = [« — y| on R is ealled’,_| 4 0"

select the correct option

| hona of them

indiscreto topology

usuell topalogy

discrote topology

Click 1o Save Arswer b bove Lo Mext
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MTHE34 - Tepology (Quizne. 3)

Time Left

Quiz start Time: 10:03 AM, 18 February 2022

Question # 10 of 10 { Start time: 10:15:31 AM, 15 February 2022 )

Total Marks:1

which of the following staternent is false?

Download More Quizzes Files From

VUANnswer.com
Select the correct option

Aany finita set with ony topology is second countoble

I*  Relood Moth Equations

Discrete topalogy on o real line R is sacond countoble

The set B with usual topology is second countable,

Dlscrete topaiogy on o countoble set ¥ |2 second countabls

Back

‘Click to Save Answer & Move (D Naxt Question
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MTHE34 - Topology (Quiz No. 3) Quiz start Time: 10:03 AM, 15 February 2022

Question # 9 of 10 [ Start time: 10:13:36 AM, 15 February 2022 ) Total Marks:

st X = {o b e} and v = {0, {a}, {b}, (2.6}, X} be atopaiogy on X it B = {0, {a}, {b}, X} be the bose of 7 then which of the following is
trus 7

Select the correct option .
P  Relood Math Equaotions

[ [X, 7] ba a first countnble spoce
&1l of ther J
[X,7)bea rd nitoat I

Back <@~) Recent

L.
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| MTHB34 - Topology (QuizNo. 3) Quiz Start Time: 10:03 AM, 15 February 2022 |

Quiestion # 8 of 10 ( Start time: 10:12:25 AM, 15 February 2022 ) Total Marks:

st X ={1,2,3,4} and 7 = (B, {1}, {2}, {1, 2}, X} b= o topalcgy on X, then which of the following is true 7

Select the correct option

F Relood Maoth Eguations

all of tham

sry siement of X has countoble ioool base

(X, 7] be afirst countoble spoce

(X, 7) be o topologicol space

Back <@~> Recent

L.




MTHETA - Topalegy (Quis Mo. 7)

Cueeaiion & 2o 0 |

* carreci aption

| o [P Ep——"




10:00 © B Rl il

(O3 @& vulms.vu.edu.pk/Quiz/Q (2

MCID02R0090 MAHNCOH FEHMAP
' . ! ! Tlmnlf!lm

MTHEL4 - Topelogy (Quiz Me. 3] qQuilt Gtart Tirme: 00:58 AM. 15 February 2022

question # 4 o1 10 [ Start time: 0R:51:56 AM, 1§ February 2022} Total Marks: |

X 1,2,3.4.5,6) ond = (& {1}, {2},{1,2}, X} be o ool X y |l i i) { the oot T |

Select the correct option # nuiood woth Equations
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| MTHB34 - Topology (QuizNo. 3) Quiz Start Time: 10:03 AM, 15 February 2022 |

Question # 3 of 10 [ start time: 10:06:17 AM, 15 February 2022 ) Total Marks:

st X ={1,2,3,4} and 7 = (B, {1}, {2}, {1, 2}, X} b= o topalcgy on X, then which of the following is NOT true 7

Select the correct option

F Relood Maoth Equotions

The locol boze of the slemant 4 (s §

(X, 7) be o topologicol space

=] gigment of .K nas uncountoble locol bose

(X, 7) be a first countoble spocs

Back <@~> Recent
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| MTHB34 - Topology (QuizNo. 3) Quiz Start Time: 10:03 AM, 15 February 2022 |

Question # 4 of 10 ( Start time: 10:07:13 AM, 16 February 2022 ) Total Marks:

st X ={1,2,3,4,5,6} and = {0, {1}, {2}, {1,2}, X} be o topoiogy on X, then the locol base [ B, ) of the point e = 1

Select the correct option - .
% | Reload Math Equaotions

[1{1} {2}, X}

{{1h {2h{1,2}.X}

{{1} {12}, X)

Back <@~) Recent




MTHELS - Topalogy (Quiz Ne. 1)

question # 8 of 10 [ Start time: T:04:22 AM, 15 Febru ory 022)

Salect the correct option

e {0, {3} {4} X} im an open co a zat {4]

:rimclrr'E

Quilz start Thme: HE59 AM, 1§ Fehmury 2002

Totol Marks:




MTHELS - Topalogy (Quiz Ne. 1)

question #7 ol 10 [ Start tme: T:03:45 AM, 15 February 2022 )

Lt X b i 4 Tal. Ib 1, 6], X} ba m topaiogy on X, § 8 i, fa
i
Select the CMI‘{TQ‘FHM
B bo th ol
X 1 I

:rimclrnE

Quilz start Thme: HES9 AM, 1§ Fehmury 2002

Totol Marks:






